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ow are the sentences in whicht

If 15 women or 30 girls can stitch 270 suitsin | 3~ Given bel : 1 Select
18 days, then how many suits will 10 women degrees of adjectives haye been used. S
and 20 girls stitch in 18 days? the correct sentences.
(A) 300 suits (B) 360 suits 1. He is the strongest man. '
(C) 400 suits (D) 320 suits 2. No other musician was better than him.
(E) Question not attempted 3 The crocodile is the largest of all reptiles.
e 15.@'{% a1 30 wfear 18 fw & 270 gz 4. This place is near to my home.
‘mﬁ 3 t @ .10 S of1T 20 wsfired, 18 fa Choose the correct answer from the Sgtions
E:a W ? o givetl:l_t)‘e_lAOW :
(A) 300§z B 360 g2 (A) 2and 4 (B) 3and4
(C) 400 g (D) 320%e \(©y 1,2and3 (D) 2and3
(E) orgafa wew (E) Question not attempted
2 Air gets polluted due to various reasons. | 4 Match the given words of List I with their
Identify which are NOT the direct causes of corresponding words in List IL.
air pollution. i
List I List II
1 Dust storms . 1 =T
2 Smoke from volcanoes i :
3. Domestic sewage b. Accountant
4 Agricultural waste c. Insubordinationr I TrRs
5 Burning of wood and coal \ ' d. Resources - . @B
Choose the most appropriate answer from the Choose the correct answer from the options
options given below: given below :
(A) 3and4 (B) 3,4and5 AY a-Il, b-1V, c-1, d-II
(C) 2,3and4 (D) 1,2and4 B) a-IV, b-1, c-II, d-III
(E) Question not attempted (©) a-l, b-Il, c-III, d-1V
&1 &S BN A UGRId 1 ¥ 1 37 A B A waE (D) a-I, b-I11, c-IV, d-1
& F q1g TG i BT TE & 7 (E)  Question not attempted
1. @ 94 e
2. verdr ¥ e gar 5  The d.ifference between the compound interest
3. W A and simple interest on a sum of ¥ 10,000 for
4. Py omRe 2 years was X 400. The rate of interest p.a.is-
5. @@ AT HIEW H AT zﬁiO,OOOﬁvﬁngﬁ%mjw&gw
Hr form T fred & @ R SUgERT I & gA ST ST 1S T 400 ¥ 1 =amet a1 4
i (wferert &) a2y 2
' AT 20% 0
UA) 34 (B) 3,4@1; S B) 40%
15%
(€ 23%4 (D) 1,384 - et (D) 10%
D uestio
(E) arafd ved £ 5 (E) n not attempted / sgefa wow
Yt -
- \podR ’\}J i 5 OO XU
ww 44JRAC-1] ? > 5 ————— fuoap [PT.O.

Qa0 o DOBOXT DX 2

\ oo
@ (o0 @
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Match List I with List II:

List I Important List II (Built by)
Places)

a. Jaigarh Fort ], Qutub-u-ddin Aibak
b. Hawa Mabhal II. Sultan Ghiyasuddin

‘ Khilji
¢. Adhai Din ka I Mirja Raja Jai Singh
Jhompra 4
d. Ajmer Sharif “iIV. Maharaja Sawai
Dargah Pratap Singh
g [ & a1y g2 1 @1 frem Sifvra:

Tl WW T?(II (e 2 Frtor

c. améﬁwmsﬂn:y‘m et T wrar e

d. =Y % ms IV, TErren wa gard s
Choose the correctfanswer from the options
given below: i3

e g q femeat ﬁ"% & I BT TG DINT:
A a-IIL b1V, q;gd -II

(B) a-1I1, b-11, cW d-1

(C) a-Il, b-L c- IV d-II

(D) a-III, b-1V, c-II, d-1

(E) Question nét attempted / Sgare 997

£

Who is the present ‘Chairman of ISRO?

(A) P Veeramuthuvel

B) G Madhavan Nair

(C) K.Sivan #¥

(D) S. Somnath

(E) Question n@t attempted

ISRO &1 gaw™ amm B &7

(A) . a?r(rgg%m (B) . wrerad ¥4
C) & @@ | Nz TH. SRR

(B) srgaf wrf;i;,;;

ow® 44JRAC-1]

o 3.4,5,1,2

GET IT ON
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Given below are sentences that may be
correct/incorrect in the use of tense. Select

the correct ones.

% I was having shower when the phone
was ringing.

2.  Hesaid aid that honesty is the best policy.

3. Rama promised, that she will do her
homework. v

4.  Gopal fell asleep'while he was reading
a book.

5. We arrived at the airport at 6 pm but
the checkin counter was already closed.

Choose the correct answer from the options

given below :
2 and 4 only (B) 3 and S only

(C)¥ land2only (D) 1,3and4only
(E) Question not attemipted

Arrange the following Chief Ministers of
Rajasthan in chronologleal order:

1. Bhairon Singh Sﬁekhawat

2 Vasundhara Raje -

3. Jai Narayan Vyas"'i:fj'

4.  Haridev Joshi ?:

5.  Heera Lal Shastri 1

frefafaa Trora & geasfal Br BremmHgE
ZaRad T : O

1. Rife gm0

2. SIS

3. AT q™H
4. &R el

5. R st

Choose the correct angwer from the options
given below:

‘ﬁ%ﬁqwﬁmﬁﬁwwmwaﬁﬁﬂq
(B) 5,4,3,1,2
(C) 3.5.4,2,1 Q,(ﬁ)“53412
(E) Question not attempted / G‘{'ﬂﬁﬁa T

[PT.Q,
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@

Given below is a sentence in Active voice.
Select the best option to change it into Passive
voice. T :

Some boys were helping the wounded man.

1. The wounded man was helped by some

boys. ’
\%/ The wounded man was being helped by

some boys. =

3. The wounded man was been helped by
some boy.

4. The wounded man had been helped by
some boys.

Choose the most appropriate answer from the
options given below :

(A) 1 only (B) 4 only

(C) 3and1 only @?’ 2 only

(E) Question not attempted

are unique kind of primitive immature
cells that have a remarkable capacity to
develop into different kinds of cells.
(A) Epidermal cells(B) Primitive cells
(C) Stem cells (D) Epithelial cells
(E) Question not attempted
THHATS YHTT &I STE AU
FifdreeTd e & s faftr= yer o wifdresred &
i €9 @ STETEROT &HaT Bl B |
(A) eftred Fiftmd (B) - anfE @ik
(O Rm At (D) S @R
(E) orgaRd 9ed ‘

A woman due to her old age cannot read

newspaper clearly. She is suffering from

(A) Hypermetropia (B) Astigmatism
(C) Myopia (D) Presbyopia

(E) Question not attempted

s AT ST g % BT FHIGR U Y St
T & Té 7g wahd | I8 Frefeiad # & frg gRed
aRad?

(A) eEuthgfmr  (B) afigEar |

(C) wmafmr R L {@kﬂ

(E) &gand 99+ _

ww 44JRAC-1]
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Which attack plocks a legitimate user fo,

using computer?
(A) Virus
(B)
©
(D)

()
ﬁwmmwwmﬂﬁfﬁmm
FAIABATE? '

(A) dEE.
\sy o (e T k)
(C) Rl

(D) =R

(B) orgaia ued

pOS (Denial of Service)
Phishing
Spamming '

Question not attempted

Which was the first bank established in India?
(A) '
B)
©)
(D)
(E)  Question not attempted

e & & sireas wr e da 2 @ d?
S, gl R &%

(B) whfaw ¥ sifs ghear

©) ¥ it fegem

) ¥ it e

(E) ogafa s

Awadh Commercial Bank
The Empeﬁal Bank of India
The Bank of Hindustan

The Bank of Calcutta

[ pT.0
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Direction : Question No. 15 to 18
Marks thained by five students M,N, P, Q
limd R thI}l{gh(th and Maths are shown in the given
ar graph. Read the graph and answer th i
o 18, € questions

R 997 7. IS @18 a=

o Rrenffet M. N P. Q e R ara sideh she
nﬁmﬁmw%ﬁqmmﬁmm%lmaﬁ
WAR WS 159 18w sacdy 000

a0 _g é_-‘: = L—
® B = 25
50 -’_Lg %) fDE %Dg ":é)_ éozr—
£ SE HE 3 M
- 40 4 3 = 2_9.- = %
2 = ) B
S 30 4 = SIS
£, —] = —
OE 20 =
é’v y = L
= 10 3 |
X3 —
0 2k %ote == N
M. N Q R

’ : /. o -
Students (BT) ' -

Which student has scored the highest average
marks in English and Maths?

2 & Poremelf & sfdroh e wfere & e ol
3ie T few ?

A) P (B) M

SEFR ® N

(E) Question not attempted / SIFTfd 9T

13

i

How many students have got more than 40

&

marks in Maths?
(A) Four (B) Three
(C) One (D) Two

(E) Question not attempted
e ey & wiftra & 40 st @ orftrd o
e 7 —

(A) T (B) ™
©) uws @7 &
(E) orgafa 97
®® 44JRAC-1] ‘p&
vy 2.\
¥ Ao eRino
'M oo

5

17

18

19

1 20
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For which student the ratio of the marks
obtained in Maths and English is the
maximum? ‘ '

e feyemelf ot TR ofi otiich # ikl @1 SuT

aag o % 7
(A) N B Q
© M D) R

(E) Question not attempted / ST Fe7

Total marks obtained in English by all the
students is - as
i R arar ol ¥ o e sm ¥ - 2

(A) 200 BT 205 29
(©) 190 (D) 195 _us,

(E) Question not attempted / STgAd 997

Which Web page is displayed differently for
different users?

(A) Dynamic (B) Current

(C) Static (D) Home

(E) Question not attempted

B Q1 A9 IS T TG B Il b T AT
% & wafi g & ?

AT st (fehe)

(B) a@= ™
©) ®f=
(D) ®m

(E) orgafa usw

The dimensions of length and breadth of a
room, when increased by 3 meters are in the
ratio of 5:3 and when decreased by 2 meters
are in the ratio of 2:1. The length of the room
in meters will be -

@R ) P, v ofe e, A

3 ey @ gfig we wx ws of et @

5:3 B v s 2 2 e e R e
2:1 81 STt ¥ 1 Y &) g Hex X o i |
[GNRRY: (B) 24

© 20 NP2

(E) Question not attempted / 3=a we
w 5% ° [P0
\0"5 *
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h the words of List I with the Wor

21 An element X is soft and can be cut with a | 25 Matc ord
amn in List II.
knife. It can not be kept open in air and it having a simi me &
reacts vigorously with water. Identify X. List I (WordS) LISt I (Synonyms)
(A) Phosphorous (B)" Calcium *‘[ d
& : L ea
(C) Magnesium (D)‘ Sodium a. Inception \ /A .
(E)  Question not attempied b. Bizarre I. Dissolve
N <.
T@T m F 98 N
e g AR & e e #1 X 2w d. Liquidate B Ssual
(A) wrEBRY (B) ¥feeram - Choose the correct answer from the optiong
© ﬁ’?ﬁﬂm \W given below : e
E , p
(E)  orgafa wew - MIIIbIVcIHj_
LS
22 T X Pt @ear a%‘xﬁa H ot ¥ ©(B) a-IV, b-I, c-II, d-;_lI
f&ﬁwaﬁwwﬁ%ﬁ'ﬂmm (C) a-1, b-II, c-111, dw-'fV
ho _ ‘
(B) = wm-dw wem (D) a-IL b1IL, c-IV, d-I
(C©) TuwH & B B B (E) Questi ¢ aftempted
uestion not aftempte
(D) ﬁuﬁrwaﬁwggﬁﬂww o P
(E) orgaRa weA - .ﬂ
Sy
4} 26 Match the given wo;ds of List I with their
23 The value of (0-04) > will be : pPpositesn List II. ¢
. %3
A =¥ List I sg  ListII
(0-04) 7 =t =T 1 BMH? '
a. Interior. . Complex
(A) 125 (B) 25 y |
(C) 625 Ij;3 3125 . ple I. Mobile
/(E{ Question not atteniﬁted / STganRa 987 ¢. Stationary i3 1. Exterior
P d. Private Y1V, Public
Which tag is used for byllet list in html? St )
6&’ ich tag (;; iy Choose the correct answer from the options
(A) <OL> ol given below - =3
(C) <UL> (D)" <DD>
(E) Question not attempted (A a-v, b- L, c-II, d -I111
g 1 7w e & e v o 2 MHb]cH v
HCAE? 4} ©) ai,
i (B) - SJﬁ> 0 b-1II, c-I11, ﬁHV
©) <qT ), fg ) b e, Q‘JV
(E) orgaRa 987 =3 (E) " Question not aggempted
) = » "
we 44JRAC-1] 6 [PT.0
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S

~A\

Q(/g

NG 74

B

The sum of ratlonal numb"érs from the
following :

V23,/225,0.3796,7 is -
(A) 17.64 (B) 19.79
(©) 7.43 (D) 15.3796

E) Questlon not attempted

J—J5'03796J_maﬁaggﬂgu

a@m‘r 1 1T 91 BT P

(A) 17.64 %9 79

© 743  (Dy~15379

(E) o1gaRa e Cansil

Which of the following statement about

“Presidential Rule”” in Rajasthan is/are

correct?

1. First President Rule 13-03-1967 to
25-04-1967

2.  Second President Rule 20-08- 1977 to
21-05-1977

3.  Third President Rule 17-02-1980 to
05-06-1980

4.  Fourth President Rule 15-12-1992 to
03-10-1993

Choose the correct answer from the given

options: _

(A) 2only (B) 2and 3 only

(C) Onlyl (D) 1 and 3 only

(E) Question not attempted

ﬁ%ﬁqwaﬁww@rmﬂwﬁ ‘ez |

1. mmﬁramls 03-1967 &
25-04-1967 %

2. @ ARy e 20-08-1977 @
21-05-1977 @& R

3. drga sty s 17-02-1980 §
05-06-1980 & '

4. ey gt omEe 15-12-1992 9
0%%1993% :

feg mg EEE s

(A) e 2 ﬁ2ﬁ3

(©) %¥aw 1 (D) ¥ 133

_Ey— srgafia 9

ww 44JRAC-1]
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’ What is/are the uses of “Macro feature” in

MS-Excel’?
It is used to send messages.

It saves a lot of time.

It designs the work sheet.

It maintains the uniformity of
formatting changes in a sheet.

Choose the most appropriate answer from the
options given below:

(A) land4only (B) 2 and 4 only

(C) 3only (D) 2only

(E) Question not attempted

TH.0H. T A W%wm%ﬁk ?

EERI

I, uza%atﬁa%asﬁy’lg;@mém%l

2. g% 999 ¥ I9d HLH B
3. wa%sﬁzﬁaﬁ@m%n

4 wqwsﬁzﬁwﬁat/ﬂimm

¥ §Q @ ¥

3 fre g Fyedl A @ GEY SUGE ST & AT
BT ,
(A) ¥aw 134
(C) @waa3

(B) ¥aw 234
(D) ¥aw 2
Cal

Which of the following diseases is prevented
by BCG vaccination?

(A) Typhoid
(B) Hepatitis B
(C) Cholera
(D) Tuberculosis
(E) Question not attempted
frafoRea & @ feg A1 A Awa™ é’Tﬁr S F
A T B AR X ? '
(A) ZgwEs
(B) frewfew B
(C) ¥m
ad
(E) orgafa e

[PT.Q,



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Addal2H

31

32

GET IT ON
Google Play

What are the advantages of mailmerge feature @ X + ST BT WE AT B W ?

in MS- Word?

1. It saves lot of; time and effort.
2. Itis used for de51gn1n

lllll g document.
3. It can maint

ain.the details of all recipients.
4. It makes the documents more attractive.

Choose the most appropnate answer from the
options given below:

(A) 1and3 only (B) 1 and 4 only
©) 1lonly i~ (D) 2 and 3 only
4EY" Question no‘t attempted

R A aéﬁiﬁ_gj(ﬁm)qhm%wm%?
L Sﬂﬁ!@%ﬁaﬂrmaﬁmﬁ?ﬁ%l
2. wmﬁﬁﬁﬁﬁﬁﬁm@mh

3 nswwami@ﬁ%ﬁmwm%l

4. T% yoi@ # iR e s g

ﬁ%ﬁqﬂqﬁﬁ@jﬁémWﬁmw
(A) mlaﬂrg B) wawlai4d
©) Fw1 ™ (D) FAw@2eh3
By srgafa v,

Who was the first person to receive Padma
Vibhushan Award from Rajasthan?

(A) Gha.nshyam Das Birla-
(B) Usha Sha,rma
(C) Naresh Ohandra

(D) Mohan Sinha Mehta
(E) Question, npt attempted

Wﬁmwm(w)ﬁ%m

qEe AR B a7
(A) = TR
®) s )

(C) T a=H :
(D) e Rt Hg

a;

2@2)/ \'ﬂﬂaﬁﬂ'gﬁﬁ

we 44JRAC-1]
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1. e & .
4.  wfrwEor € 7

;ﬁa&qngﬁﬁaﬁﬁégﬁwww%;

AT ot 3 (B) a4
(C) Faal (D) Haw 2
E) S fad

i
LD

Choose the correct seq}lence of steps in carbop
cycle from the statements given below starting
from its gaseous sourcgg;

1. Organic carbon in plants

Inorganic ca.rbo'n ‘m soil

Organic carbon'#rl animals

Bacterial decoggposmon of organic
matter q:!f-

e R 1 et v s % wrat ¥ wd ad
Haied A, Rred maﬁaﬁmz‘n

. n‘m‘rﬁﬁawﬁw

2. qmﬁeﬁ;am-ﬁai

3 mﬁCOiw

4. wsgaftﬁﬁaanﬁ%?’

5. ﬁawﬁmﬁhﬂfﬂeﬁmﬁm

Choose the correct sequence from the options

2
3. C02 in atmosphg;e
4
5

given below: ™
)
*ﬁﬁqwﬁwwg@mmmm=
3.1,4,5 “(ia) 3,4,1,2,5
© 1, 3,4,5, 2

»(D) ;: 4.1 5%
(E)  Question not aq:ggmpted / Wﬁ‘—a T

[ PT.O-
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Marks obtained by 15 students in Maths are
given below:

Marks obtained | 5 |10 [12 |15 | 20

No. of Studems 3145211

lsﬁaﬁﬁmﬁmﬁmw%mmt
w<ie ¢y [5]10 (12 (1520

ﬁmﬁfq‘ra?rm 3145219

Average marks of thé%%%@%ﬁ??ezj B

ﬁutﬁfu‘fmeﬂa’amﬁm— E

*—P—'—'l
A 13 Tg B) 10
C) 12 W oyl 1

(E) Questioni;r;i”ot attempted / ARG ¥eT

Chips manufaetgirers usually flush bags of
chips with gas to prevent the chips

from gettin?!d,di;;d

(A) Chlorine”y

(B) Sulphur dibxide

(C) Hydrogef”

(D) NltrogeQ:;

(E) Questiorrgiot attempted

Ry weTad ST R 1 ST € § ﬁrﬁ

o o AL g & WA X
(A) Wﬁ'ﬂq

(B) T SIS

© wego O

(E) aiaﬁm?r

The unit digit tche roduct

71 X 72 X T3 X ggpes X wergee X e x 79 will be -
gum71x72£<“?73x ...... X oo X e XTI H
THE N 3B mg

(A) 6 O \M/(;

© 4 ¢ @O 3

(E) Questiorifiot attempted / STFTI H¥T

~ X6 XY XERI
ww 44JRAC-1] [ESR LN 9
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Which of the following is the most reliable

protocol?
(A) POP (B) TCP__
(C)  FTP i) /DJ

(E) Question not attempted
Prefefaa ¥ @ @ g Adwia wE At
fayaeia ¥ ?

(A) e dr ‘B) ad@d

“G wad D) T
(B) ogaiayst
Fill in the appropriéfe prepositions in the
blanks of List I from List II.
List I %j’w List II
a. Heis blind Qne eye. into
b. The boy fell ____“his bike. II. of
c. Rohitisfond __ children. Il in
d. The lion Jumped * _the well: IV. off

Choose the correct agswer from the options
given below : T

(A) al, b-IV, c-l, é‘ 111

B) a-IL, b-1II, ¢, ¢

(©) al, b, .11, 44V

Dy alL, bV, ¢-IL d-L

(E) Question not attempted

W
i

mmﬁaﬁrwaﬁﬁw /ﬂ%t QA F|

we ¥7 o

2. TEEIW <

4. MWW
ﬁmwﬁmaa\mmmmm
(A) ¥aw 3 [B) w4

© ¥l Dy 2

(E) smaf@wed ¥
[PT.O.
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N 1% e g 1 P e /@MatchListhithListH:
List I List IT
T wI a. Charles Babbage I. EDUAC/ENIA(C
a. 3@t & any L vga wfver € b. John Von II. Tabulating
'/ Neumann Machine

% Sef-arhgh - Il et g c. Blaise Pascal III. Analytic Engine
C. OTEAT BT T & & d. Herman IV. MCChanical ‘

7\ Hollerith Calculator

. y |
d. 3% W V. 3w g | o 1% w1 g 11 1 R B
%mmﬁw&%Wmew\: S D T I
A RS L ST A e

(A) a-H’ b-IV, C-Is d‘III = . q\

b. Wi gt AT M, gRiEe 7o

(B)  a-I, b-III, ¢-IV, d-II c. e I fysaftve 3o

(©)  aL b-II, c-IV, d-11 N d. ¥ e V. aifw Segee
. Choose the correct answer from the options
(®) " a-Il, b-I; c-IV, d-I given below:
\ .
(E) orqafa wem T R g Rt & @ w s a wm @

(A) a1V, b-II, L, d-III
| a_,I_Ya, b'IH: C;H, d‘I

| C) a-Il, b-I, ¢c-IV, d-
42  Which of the following does not give instant € a b_\I’ c-IV, d-II
i : , ’ (D) a-UlL, b-1, c-II, d-IV
messaging? : :

(E)  Question not attempted / srgaftd wed
(A) Facebook Messenger . :

' 44 Which of the following is the | t canal
hrome g 1S ongest ¢

(B) Google Chrom of India?
(C) Google Hangout (A) Ummed Sagar Canal

(B) Indira Gandhj Canal

Messenger ‘

(D) ahoo . | (0) Ganga Canal
(E) Question not attempted (D)  Anoopgarh Canal

_ : (E)  Question not attempted
Preferiae & & @i € g i @) gl T B 7

P 3 & i o T s o v e e
(A) Wﬁﬁm \»(’B'/Tmm . ¥ | |

(A) T T T B - T i TE
©) T memee (D) g A (©) m et (D) srws e
R - | (E) oaia v )

- | R PT.0.
‘ww 44JRAC-1] 10 | [
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“Which of the following is used to check

45
synonyms in MS- Word‘7
(A) What if
B) Thesaurus
(C) Spell chec'lﬁng
(D) Auto cheoky
(E) Question pet attempted
o Ta-d ¥ Tataard st @ S w & frg
Pt & T VAT RpaT T & 7
Ay T (RTGR)
®) dmrE_ -
(© S A
D) FAIF i
(E) ogaRa wed
£~
46 Match ListI Wl ist II
List I (Speed i m’&:} List IT (Speed in
Km/h) m/sec.)
a. 6 km/h 8.5 m/sec.
© 5
b. 20 km/h 3 m/sec.
c. 30.6 km/h i 20 m/sec.
d. 72 km/h 5—90- m/sec.
gt L1 gt 11 TP S |
@I(ﬁ;ﬁ/ﬂﬁﬂﬁ) @Il(ﬁ/& ¥ nfaY)
a. N 8.5 Hi/4.
5
b. 3 qa.
c. 20 /4.
50
d. IV. 5 qAQ.
Choose the correct answer from the options
given below: *._. ‘
e fg Mg f 4 e U BT 99T BT
(A) a;ﬁ,b_[}{fglll d-1
(B) a-Il, b-I, ¢-LV, d-1II
45 alL b-IVeorl, d-11L

(D) a-IV, b-IL=#l, d- a-m
(E) Question bt attempted / rgafd 9e

e 44JRAC-1]
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GET IT ON
| Google Play

47 qﬁrl%m&@llwﬁaﬁaﬁﬁﬂ:
w1 - A 1T
a. aﬁmerdgw T
b. ﬁmmﬁmtﬁ FHasT
c. ot g mEGaa @ € A 11 FeEr

d. emn §an?“ - Vo
G —_ -
%mmﬁgﬁﬁﬁqﬁwmmaﬁﬁq :
\/QX)/a-III, 1@, c-II, d-IV
=3
(B) a-L b-HE c-II, d-IV
(C) al byl c-IV, d-II
(D) a-l, b-@, c-1V, d-1I
o
(B) ergafyasT
&
ﬂgg )
=&
48) T weTE Rved va g WU & S F e ¥ 7
A B
2. @ f_ﬁ
3 Wmh@ N
4. aﬁm T
(-

ﬁ@wfﬁﬂ‘fﬁﬁaﬁwmwmq:

\Wﬂﬁ (B) ¥aw 4
© Wg (D) w2

A :
(E) orgafaus

[PT.O.
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49

50

Match List I with List II:
List I ' List II
a. ‘Dronacharya’of 1. Limba Ram
Rajasthan
b. ‘Waterman’ of II. Karan Singh
Rajasthan
c. ‘Arjun’ of III.. Gokulbhai
Rajasthan Daulatram Bhatt
d. ‘Gandhi’ of IV. Rajendra Singh
Rajasthan. 4
T 1 & g g2 11 &7 fram SR
gl = 1T
a. ST &1 ‘Sromamd’ ferea T
b. TSN &1 ‘G - HOIRE
C. USRI &I ‘S’ P
AT HE
d. TSTe ® Ty TSR
Choose the correct answer from the options
given below:
e g g fremedt # @ wE ST @1 T T
(A) a-l, b-1V, c-1IIL, d-I
(B) a-IIl, b-I, c-IV, d-II
(C) a-L b-1V, c-lI, d-II
a-JL, b1V, oL, dJIL
(E) Question not attempted / STgeifta 57
Which ruler of the medieval period of
~ Rajasthan is called ““Abhinav Bharat kg
Acharya”?
(A) Man Singh
(B) Sawai Jai Singh
(C) Maharana Kumbha
(D) Prithviraj Chauhan
(E) Question not attempted

qeaeTe ST &1 B d1 He ‘St we
7 craTd’” dEaTd ¥ ?

(A) HRE (B) Emém‘fﬁs
\_(,G)/ Teraen =T (D) g de
(E) orgafed 9T

ww 44JRAC-1]
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52

C

ST Frerer e

GET IT ON
Google Play ©

A rational number between V2 and J7 is:

V2 s 7 % e @ ufca sen

2
(A) 2.432 (B) @
r—-—“
©) V2447 z‘ﬁ (D) 2.64998

B> Question not attempted / SANRT 997

Who is the Painter of ““Bani-Thani” Painting?
(A) Amar Singh (B)- Manmohan Devi

(C) Nihal Chand (D) Nirmal Devi

(E) Question not attempted
TR AT 1 R @x) B ?
(A) o fs (B) e ¥y
(D) frfe

(BE) orgafa wes

W 1 4@ g 1 TG BT

(A) T (B) ws@
(C) Yo ‘\QB‘)/‘?RW
(E) orgaia 9s1

[ PT.O.
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54 Choose the statements which are not correct iSS; What are the functions of operating system?
in the context of Rajasthan.

1. Manage memory
1. Area of Rajasthan is 10.4% of India’s 3 Mana;ge calculations
total area. 3 )
3. Manage processor time
2. Literacy percentage of people of 4. Manage creation and deletion of files /
Rajasthan is 52.12%. folders o i -

Choose the most appropriate answer from the
options given below:

i 1 and 4 onl
4. Galouti Kabab and Ganthiya are famous (A) 1,3 and4only (B) 1and4only
foods of Rajasthan. (C) 1,2and3 only (D) 2 and 3 only

(E) Question not attempted

3.  There are 928 females for every 1000
males in Rajasthan.

5.  Under British, the old name of

Rajasthan was Rajputana. T o % FT B © 7
Choose the correct answer from the options 1 A= ot Freid H 3 refre e ¥
 given below: 2. ufiwe %t Prif@ ST
(A) 2,3and5only (B) 2and4only 3. whemawa @ Frfd wear ¥
4 e BIeST @ TS B S @ B
(C) 1,2and4only (D) 1 and 4 only & Predf |
(E) Question not attempted , 13 for T Rt A @ SN S ——
Hr fm o el F A A e gRTT S TS & B
P 3. . A
iy ad T ¥ (A) e 1,3 3K 4 BF dbawt L T4
1. <oTe™ @1 & W & P T Bl (C) ¥aw 1,283 (D) Hew 233
_104%%1 B RSN BEEEgC
A TR W e 52.12% %1
, ) . . g ’ Choose the option where the prefix has been
3. o ¥ i W gedt @ ger 928 used correctly in the words given below :
i g : i <
— 1. Initial
4. e war o Tifsar T % S 2. Innumerable
for ¥ 3.  Irritate
5. fafer <ot & TroTedT &1 G T TRTAT 4. Unless
Ol &.  Irreparable
Y Ry T frepedy & @ wE IAL BN TAT HIAT: Choose the most appropriate answer from the
S 2 ¢ 4 options given below :
2
(8 w2, 3 ot bere 2 ST (A) 2and3only eBJ 3,4.andS5 only
(Cy ¥aw 1,2 ol 4 (D) T 1 T4 (C) 2andSonly (D) 1,2andS5 only
(E) orafa 9o (E) Question not attempted

e 44JRAC-1] 13 [PTO.
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57

58

What are the advantages of IDE (Integrated
Development Environment)?

(A)
(B)
©)
(D) Saves tifite

(E) Questloqpot attempted

\"_ﬂig‘fs‘ mmwaz) & T

Auto correct source code
Easy to develop
Reduces oost

Maﬁaﬁmm B B
(B) Fﬁmmeﬂm%
(©) mm\%ﬁ%

(D) WE&L@

Match List I with List II:

List I (Disease)  List II (Deficiency)
a. Pellagra ;—i; Vitamin A
b. Marasmus« II. Vitamin B
c. Goitre {j, II. Protein

d. Xerophth%'a IV. Todine
gt 1% & g 11 1 e iftra;:
gl @m) [ T (%)
afdeh, R 11 Breihs
b. AT 1. frefe B

. et TIIL s

Choose the corfect answer from the options
given below

N ﬁmﬁﬁaﬁmmmm
%,/a_'lllqb‘ﬁc-wu

B) Il byll, ¢-IV, d-
©) al, b-Le-l, d-IV
D) all, b-@c 1, d-IV
(E) Question not attempted / sigafe we

®w 44JRAC-1]
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61

62

GET IT ON
Google Play

¥ gur drae drar € & B A B A ¥ 7

wers fr. (B) ey ey
(C) faat B <& (D)  oraias By
(E) aavﬁvmi;ii

Which of the foﬂowmg is a contactless
protocol? <

(A) UDP "® TP
(C) TCP pe (D). HTTP
(E) Question noi;;ttempted
frforfea & & & %ﬁ’mﬂzﬁﬂ St & ?
K g ad ?,« B) A
© d®d o D) wWEAAH
(E) omaRa ue7 f

Which of the follg:
“Open Defecatio

of Rajasthan?

(A) Dungarpur 43 (B) Churu
(C) Ajmer I (D) Tonk
(E) Question ngt attempted

ﬁﬂﬁf@aﬁémmaﬂammﬁm
gﬁn “gérﬁsﬂa%gﬁ (3Nvaw) e 7= T
?

(A) Fmg tﬁ\cm/sa

©) st @ D) 3w
(E) orgafa wep-

o
m&lmaﬂﬁm

ing has become the first
ee”’ (ODF) tribal district

' IuE
. w+sw
2 W+mm

3. e + g

4, wi+wm W
#&f&qmﬁmg‘%mwmmm
(A) &W3 g (B)

(C) Fawm 1 amz‘

(E) orgafa wed

":?'
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GET IT ON
Google Play

Work out in shaded areas as much as possible.

[ J
(&) 1 H, s o g fiedt| ) e Ifyouare exercising less than two hours, drink
et & % el 2w ¥ water before and during the activity.
@ Tm( %9 = | . e  After exercise, make sure you drink enough
D) q Wﬁ HH BT R water to completely quench your thirst.

(E) ogaid us

64 Whichtag is used to create a drop down menu
in website using html?
A <UL> (B) <Menu>
(C) <Input> (D) <Select>
(E) Question not attempted oecause
9. 2.UA.TH. & T4 H(& 995 § 17 S16T (A) it puts you in a good mood.
=g (3 Y T W) T & T ot a1 2 v (B) it makes you go outside home.
T? : ¥ it makes the brain release ‘endorphins’

66 Select the appropriate answer to the given
question : ‘
How does exercise make us fecl happy”
Answer : Exercise makes us feel happy

I

because

fan
JT&W B) <> which makeés us happy.
€ <Y (D) <Vdae> (D) it makes you drink a lot of water.
(E) orgaid ues (E) Question not attempted
65 ‘o’ % forg W orae wsT ¥ 67 Complete the following statement choosing
(A) i TegE™ B ' the best option :
(B) i qead “If you are exercising, you should not
(C) foa 7w &1 o exercise in the hot sun '
forereat e ot < ST | (B) drink water before and during the
() el uet activity
. ’ (C) drink a lot of water
0. No. 66-70 : Read the given Passage carefully (D) exercise in morming or evening

and answer the questions that follow :

Exercise makes us feel good -

It feels good to have a strong, ﬂexib!_g_tgc_)dy,
and do all activities you enjoy. Exercising can | 68

Question not attempted

(E)

Match List I with List IT :

actually put us in a better mood. When we eXercise, List I (Words) List IT (Antonyms)
the brain releases a chemical called “endorphins” 2. Humidity I Rigid
Wthh makes us feel happier. ThjS_EJLlS_t;aLlOther b Pain Wi
reason why we should exercise L B one
However, some people feel that you shquld c. Better I. Dryness
: ~d. Flexible IV. Plgasure

lot exercise if it is hot.
Actually, summer’s heat and
shouldn’t keep you from exercising —
you just need to take precautions. Some of
these are ; 4.
*  Exercise i ning or evening,
xercise in the morning (©) oL beIL c-IIL d-IV
temperatures are lower. .
¢ Wear light coloured clothing, which are not (D) a-II, b-I11, ¢-I, d-IV
too tight. 4 (E)  Question not attempted

humidity Choose the most appropriate answer from the .
options given below : )
(A) a-1V, b-1, ¢-III, d-1I

\ABF a-11L, b1V, ¢-11, d-1_

when
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69  Select the appropriate option for answering | 73 yfg 9 & TG |

the question that follows : (&) o &N

Why is it necessary to exercise? ' (R) @&l el @ e
Ans. : l"tis necessary to exercise because () B S ?
(A) makes you look smart and fit (E) ogai@us .
B) makes you feel sleepy ' : o)

Mnélges the body strong and flexible | 74  Given below is a sﬁﬁtence in English,
" Translate it in Hindi #d choose the correct

option.
Hard work is the key'to success.

(D) makes you feel more hungry
(E)  Question not attempted

sy
)

i) . R gt ¥
70  Select thééimst suitable title for the passage. ; ﬁ—{ﬁ?ﬁ:‘f gﬁ% éﬂ;@ £
The title L"-)_"f“the passage is g o 3. FEemad HW%T T Erfh
(A) Hap >r Exercising , 4. THAAT B EE PO BH BETEI
(B) Ph)ggcal Fitness Choose the correct ansﬁer from the options
KB Exercise and Happiness : given below : o
.‘,QB‘)/Be'peﬁts of Exercise \f’g))/i anji (é;; ‘31
- an .
(E) ngtlon Holiaernped _ (E) Question not att:é;l:%pted
71  Which ;ivices are used to make website | 75  “Kandora” ornament ;ﬁwom on
availablegﬂ)r 24x7 all over the world? (A) Foot B) Waist
(a) HITp (C) Head ®) Neck
(B) Tele commuting \ (E) Question not attgf?lpted :
(C) Video conferencing YR e L wEen
(D) Wébhosting | A) s; BT
(E) Q\.igtion not attempted © fi ' @) e
faage @haT T Q4<7) Tem gt H g | () gm0
fryam ¥ A @ A A e e €2 | = —
s ) 76 Which is the most_ “advanced printing
(A) @g ad (B) &eft Frgfe - technology? M:
(©) fafeay g M BT (A) Laserjet printing
: (B) Inkjet printing i~
(E) aﬁ@ta LEL \\9 3 (C) 3-Dprinting ©
L *\\s{; (D) Thermal printing |
72 Evaluate:zi)'ll% x 1198 ' (E) Question not atté%frflpted
et 1198 < 1198 0 & 2 e e e o e 7
(A) 1439204  (B) 1432204 (A) Fuefifen @) dere fife
€T 1438204 (D) 1435224 \19)/3-D fife D)  ewiw Rifem
(E) Question not attempted / ST{d ¥& (B)  orgafa v |
ow 44JRAC-1] 16 | (BT
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n A galvanometer is an instrument that
A) measures only the directi '
A) b e et 10on of current 79  If mean of first » natural numbers is 3;—, then
£ the value of n will be-
(B) measures t[he voltage across the circuit. 1 ?e
©) zineasuretsh t};__e current in the circuit. afX o 'n_ wHa enall F1 A -23—n- ®, dt nal
(D) detects ¢ presence and direction of W -
current in the circuit. © T B - [ 2xn
(E) Question not attempted (4) 4 “‘437/3 BXE
e ' ©) 2 «D) 0 =
e T e B - | So o T 60
. Fov, E .
(A) g ¥ ﬁa’éﬂum U G— (E) Question not ;ztempted / St 99 ,,3
®) i & Rz @y A ¥ | 9 o e
. £ % 8 M 1 1 &f e NG )
©) iy ¥ R ara B 1 C " atch List I with Ligf I é :
. : L) . I e 3 .t -
oRye ¥ frgg e % ware ol Rem & ist I (Books) ~ List IT (Writers) -
At | a. ZakhmKe («w I VeerBhan ~—— ©
() oaRd e = ~ Charon Oor .; | y
- | | b. Gunbhasha I. Shiv Chandra
78) In a domestic Z;ij‘cuit all appliances are :’:; _ Bhartiya
connected in - &£} c. Raj Rupak i 1L Hem Kavi
(A) Ifcurrent tfdugh the circuit s highthey | d. Kanak Sundar, & IV. Mani Madhukar
are come%gd in parallel afld if f:unent v " Kesar Vilal O )
is low they.are connected in serics .
(B) Ifcurrent through the circuit is high the.y g 1% & gl @j T BT
are connected in series and if current 1 gl (gea¥) I ()
low they are. connected in pa{allel é. ‘W % ardf &l e M -
(C) Parallel < ~ | L
(D) - i b. TSI : IL fsraraa* HqA
(E)) Qenes I;f’i _— - o TEE . L FI
uestion attemp _
: = 4. @ g, a1V, afr
m@w&wﬁ@gﬂaﬁaﬁwmt g, T ol
“fam & a R Choose the correctanswer from the options
(A) af wfew T = i ar given below:
mmﬁﬁymtmﬂfkﬁW iy N — .
i o 3 iy o ¥ , o el 28, e
5 v g w1 LSBT o I a1V, bl, eI
rofy gom & ‘rgT AT ?,W ?{ﬁ"f"* @) el b-L c-IItji-IV
artere ot e o & IV, b1, c-Ld-1I
o 4 €T oIV, bl oL
(©)  wre w7 &y C @) &IV, bl c-L d-1I
(D) it o ¥ (E) Question not attempted / FTART T

(B) orgaica 97
| . 17
*% 44JRAC-1] [PT.O.
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81 Other than camel, which of the following

is considered as the “State Animal” of
Rajasthan?
(A) Black Buck
(C) Chinkara (D) Fox
(E)  Question not attempted
ST & arffiar, Pt & & fvw gy ®Y Tore %
TST Y T TS R ¥ 2
(A) . @ fegor (B) smx

Oy Riwrar (D)
(E) saf@ues

Q. No. 82-86 : Read the Jollowing Passage and
answer the questions that follow :

Bhutan is a mesmerising mix of lofty
mountains and deep valleys on the southeast slope
of the Himalayas. Towering peaks reach as high as
24,000 feet (7,315 metres). Ny

Also referred to as the land of the thunder
dragon is a trekker’s paradise and an
environmentalist’s dream. With 72% of the country
under forest cover, Bhutan’s pristine ecology is
home to endemic and endangered flora and fauna. -

This spiritual land is the last bastion of the
Vajrayana school of Mahayana Buddhism, which
provides the essence of the identity of the 7,50,000
Bhutanese. Bhutan is a unique blend of the oldand
new. The country is slowly opening up to the modern
world whilst maintaining a fine balance with its
ancient traditions. -

Bhutan’s first national elections in March

2008 marked the country’s shift from an absolute
"~ monarch$ to a constitutional monarchy. In keeping
with its ethos, it was a peaceful transition.

The tourism industry in Bhutan is founded on
the principle of sustainability, meaning that tourism
must be environmentally and ecologically friendly,
as well as socially and culturally acceptable. The
number of visitors to Bhutan is regula_ted.b cause
of the lack of infrasteucture. ,

—Bhutan’s Government recognises that touri sm
is an important means of achieving socio-economic
development, particularly for a developing country
like Bhutan. They also aim to help promote
understanding among the people ar3d build closer
ties of friendship, based on appreciation and respect
for different cultures and lifestyles.

(B) Python

@® 44JRAC-1]
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82 When was the first election held in Bhutam 8¢

83

84

85

(A) March2023 (B) March2013

\UE¥ March 2008 (D) March 201>
(E) Question not attempted

Match List I with List II :
List I (Words) List II (Meaning)

a. Flora I.  Of great height
b. Lofty \il. Culture
c. Monarchy HI. “Plant life

87
d. Ethos *& IV. Government of one ruler
Choose the correct answer from the options
given below : I
A a-IIL, b-, oIV, d-II
B) a-IV, b-I11, c-1, d-II
(©) a-I, b-I1, c-I11, d-IV
(D) a-II, b-I11, c-1, d-IV
(E)  Question not attempted
Select the best option as an answer to the
question given below : T
Why are the number of tourists regulated in
& an? - e e———— — 8§
(A)  Due to lofty mountains and deep valleys
(B) Due to forest area
Due to lack of infrastructure
(D) Dueto _dinéér for flora and fauna
(E) Question not atteiﬁbfed
Complete the followihg sentence using the
best option :
Bhutan is a unique blend to old and new
as
(A) new visitors are coming more ofter
now. ———
(B) there is socio-economic development.
(C) there are old and new people around.
S thereisa ﬁn@i;ﬁévégbetwe;e;m)dem
world with ancient traditions.
(E) Questionnot attempted :
— L4
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Complete the given statement by choosing the

suitable option.
The tourism mdu?ﬁ“y in Bhutan is founded

on t Mgncxple of sustainability_which

me
(B) tourism has to be based on religion.
tourism has 1;(2 be promoted.

©
(D) tourism has \b, be restricted.”

(E) Question not attempted

tourism surism has to be ecologically friendly.

Change the glven tence of Indirect sBeech
to Direct form by lecting the appropriate
optlon \Q

Sudha informed jue that she would go to
wotw&

(A) Sudha said tg;me, “I may go to meet
ur mother,Qext week”.

Sudha said to me, I shall go to meet

my mother next week’_ i

Sudha said %‘Tife “1 would go to me meet

my mother hex K.
Sudha saids “I must ust go to meet my

mother nextggeek with you”.
Question n@ttempted

©

A

(E)

Match Llst I with ﬁst II:

T [ e e 11 a1 Porer TG
List II/ g 1T

List I/g I

1 3x £ ‘
&
b. x* =81 LI x=4

c. 2571=256 g L x=1

»

Choose the corrdef answer from the options
given below: ‘
¥ fg g ﬁam’r“?% & ST @B GqT aﬁﬁm
(A) a-I, b-III, el d-11
a-111. b-L c-IYV. d-1I s
(C©)  a-II, b-1V, g3, d-1
(D) a-III, b-], c- d v
(E)  Question not attempted / A 9T
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89 ﬁwﬁé‘mm’mwwﬂﬂm%?

92

~ given below:

- 9 g g el A 9€ SO % aa i

\:ﬁ\)/;-m, b-L@

(A) fbtmn%%”a'ﬂwéanatsﬁ%l
(B) ﬁrw%f&mﬁ g1 &

mtmasaﬁaamm%.

(D) mw&@nﬂt,@muﬂ%l
(E) aaﬂﬁﬁww

Match List I wit%.,ist II:
List I ) ListII
a. Analog signdt- L Amplify the weak
g signal and resend
b. Repeater <d II. Connect Multiple
| Devices

c. Digital signg III. Continuous signal

d. HUB i3 IV. Discontinuous signal

@I%m@ﬁﬂﬁmﬂﬁﬁq;

e 0 w1

a. oFEqH 'at?f I @9 Ghal B qae

. H{® IR Awra T

b. gEd® % Il g SuBION Bl
(Fedrer) wirsar ¥

c. B GHaAl/ L. qad hd

d @gH NV, Ead dbd

Choose the corf&tt answer from the optlons
-~

I, d-IV

a-III, b-I, E1V, d-11

a-IV, b-1, GlIL, d-II

a-IV, b-IL'S1II, d-I

Question not attempted / SIFART T8

(B)
©
(D)
(E)

[PT.O.
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Which of the following statements are True
regarding G20 Summit?

1. First G20 Summit was held in USA in
2008.

2. The Headquarters of G20 is at
Los Angeles, USA.

3. First ever Virtual Summit of G20 was
held at London in 2020.

Theme of India G20 was One Earth,
One Family, One Future.

5. G20, 2024 will be held at Brazil.

- ©

Chose the correct answer from the options
given below:

(A) 1,2and5 1,4and 5

B)
1,3and5 (D) 2,3and5
(E) Question not attempted

Frrferfae et & 4, o 20 firex wem & fog
T HA BT AE?

1. e o 20 Rrax g, 3,081, § 2008
% gor | |

ot 20 %1 FEATT T TS, 9,091, F ¥

3. 2020 ¥ S 20 P3rEt T B ST 86

mﬁg‘s‘l i >

e 35 o 20 e i o — 7
% URER, Ua Wi

< 20, 2024 71 ey e e A v
ﬁ%ﬁqﬂqﬁwﬂfﬁwaﬁtwwa&ﬁq:
(A) 1,28MT5 14_@'{5

(C) 1,385 (D) 2,385
(B) e 5

5.

ww 44JRAC-1]
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94
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a1 o I

a. afq+3d S Hy

b, R + T H & @y
c. P +ww I o1 = sy

d W+ 3w ><IV. frertafy
A g T freat ¥ ¥ w8 IR B T4 P,

a-I1, b-1, c-IV, d-III
a-II, b-1V, c-I, d-III
a-III, b-1V, c-I, d-1I
a-I, b-1II, c-IV, d-III
AR WL

(B)
©)
(D)
(E)

is called the City of Pearls.
(A) Mysore (B) Chennai
(C) Hyderabad (D) Ahmedabad

~ (E) Question not attempted

%! A &1 9TET HEd ¥
(A) g (B) ==
©) ¥Er \Lm/ammw
(E) orgaia we

T 1% wrer el 1 a1 e v -
™I T 11

a. fig + = i |
b. mn+$ﬁ L wurafy
c. W+ai‘rw I < afy
d. Wy + ame V. qup &fy

T Ry 7o freedl & ¥ T 59X &1 99w P
a—IIIz b- I, c-II, d- IV

B) a-IV b II1, c-1, d 11

©) al, b 11, c-III, d&

(D) a-II, b-II, c-I, d-IV
= T —

(E) omaia ved

(P10
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96

Detergents can be used with hard water also

because -

(A) Detergents have chemicals which react
vigorously with hard water.

(B) Detergents are sodium salts of
sulphonic acids or ammonium salts
with chloride or bromide ions which do
not precipitate with Ca and Mg ions in
hard water.

(C) Detergents are more soluble in water
than soaps.

(D) Detergents are generally much softer
than soap.

(E) Question not attempted

FUETE BT TANT B o & qrg | fpar s
Fadl & Fdiih —
(A) SUHSIS H TH T B & S B o1d &b

ERUCECIEIE R ek ]
Jﬂ%ﬁm,aﬁﬁmaﬁ%@%mwm

ST & FARES I7 SHES w99 8 §,

AT HSX 9 H IuRYd Ca 3 Mg I+ &
Y 3EEY T §91d |

(C) oyHATSies Ul & WG @l gl H offie
PREAICES

(D) eruHTSies GTHTEA: QIgT B gl A Afew
RECRAGE S .

(E) ergafa gs

Malarial parasite enters the red blood cells and
effects the -

(A) Stomach

(B) Brain

(C) Liver

(D)  Small Intestine

(E)  Question not attempted
AT o1 el e Tl BRI T HTH,
Frtfirfiae & & farer o @t TR e & 7

(A)  smsr

21
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97  The address of website is called :

(A) 1D ~ (B) DNS
(C) Location (D) URL

(E) Question not attempted

JeaTge F A Bl HE B -

(A) og = (B) HNTATH
(C) b By 9 ST T
(E) orgaia w9

@ Which city of Rajasthan is known as the
~  “Venice of the East™?

(A) Jaipur (B) Bikaner

(C) Udaipur (D) Mount Abu

(E) Question not attempted
ST 3 B & e BT G BT AT’ HaT ST
37

(A) sEYL (B) X
IggYT (D) HE&€< 3y
(E) orgafa ued

99  “‘OTr SATAT T T 3 ¥ 7
(A T B e o
(©) zv9d &l (D) 3599 SARAT
(E) &rgafa wed

100 A bulb is connected to an electricity source
of voltag§ 220 volt. The current flowing
through it is 0.30 A. The power of the bulb is:

(A) 660 Watts (B) 7.3 x 102 Watts
(C) 6.6 Watts (D) 66 Watts
(E)  Question not attempted

T I B 220 diee & faea B | srey war
e el e arr w6 A 030 A ¥ aew a%’rl

TRt E-

(A) 660 ar B) 73 x1024qe

(©) 66mmr (D) 66 -
—F) Sl we

[PT.O,
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101 o= & |rr g 11 &1 e ifvg 105 Match the pl‘ljg§es of List I wigy th
1 - . . 2 the
TR I o corresponding ép{ds of List II : 1(
| B~ List I T List I1
2. omgR L o o
> - a. Severe shortage I.  Emeritus
b. amr - @ I TFa of food [:;
c. g — 1L s b. AretiredperSon  II. Hydrophob;,
d. afafr. NIV, g retaining hongrary
BT - : ) title
A b ?ﬁm@ T W R . c. Fear of water, - III. Famine
) a-L, b-1IL, ¢-1V, d-11 d. Abnormal fear,of — IV. Claustrophobi,
(B)  a-IL, b-I, c-ITk-d-IV confined plage) _
(©) al, b, ch\ﬁ,:ia-III Choose the corrékt answer from the options@
a-II, b-1, C-I\@-HL given below : [™
®)  orgafea wem = . (A) a-IL, b-IL, 81V, d-I
| 3 (B) a-IV, b-I, ¥, d-III
. . ot (©) a-l, b-II, c-II1, d-IV
102 Geec.lar Dance” ispgrformed in which region \_,GB’)/ a-IIl, b-I, c-II, d-
of Rajasthan? .
. (E) Question not attempted
(A) Shekhawati p.. (B) Mewar %
(C) Bagad 5 (D) Hadoti: 106 In aclass of 40 students the data of height of
(E) Question not "‘ tempted the students andrtheir number in that range is
" ¥ - : given. The sum gf upper limit of modal class
\?’ﬂ ST iﬁ? § & 7 o e & 2 and lower limit efi median class is
faEE O (B) A o
(E) orgafia wes 145 {11150 [155 |160 |165
; No. of 1A
_ P : )
e Students (f) 3 A 6 12 9 10
103 The median of the given data 9, 7, 6, 7, 8, 2, Al & :
10, 6,4, 12, 3 is -5 40 Rrenfifat < s & et e o A
5, 7,6:2,8;2, 10,6, 4, 12, 3 il o witaat ¥ ferenfifal ot el @ ¥ | wgere e A 9t
FTE? ;; 1 9 SR wiiastmen Y P
7 < ® 8 LN
© 6 D 2 waf | 140- [d45- | 150- | 155- | 160-
(E) Question nog  attempted / AN A9 @ ®) | 145 1{;§ 0 [I55) |160 |165
ferenfii=t .
ok , 3 M6 |12 | 9 | 10
104 STEETES P BT SHETH SAETI HN 1§ ? et ( f) =)
(A) @ o B) TE (A) 290 = (B) 305
BT ;3: (D) wg A€ 300 D) 310
(E) organd 97 ‘ (E)  Question not attempted / srafia 997
0%
ww 44JRAC-1] N [RT

2,884,660, %%, 89,100
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is what percentage of
1 {.141s ge o 3.8‘?.3;}

1,14, 3.8 1 fo6eTT wferera & 2 ’-%&\"4

W) 40% B) 20%

Y 30%

(E) Question not attempted / sTafa o

@ Danger signals are red in colour because -

(A) Red light is refracted maximum by fog

or smoke.

(B) Red light is reflected maximum by fog
or smoke.

(C) Red light is scattered least by fog or
smoke.

(D) Red light is scattered maximum by fog
or smoke.

(E)  Question not attempted

T F Hha o 7 % € & Fiih —

(A) e warer, ey a1 1 & T oAferh ST
B & ; |

(B) muansn,gumgq“@raaﬁaﬁﬁiﬁwﬁ
B ¥

(G gumgqaga@ffmuﬁvh

BT ¥

Wmﬁ webTeT, Yo a1 YU @ ed S et

Akl |

) ENSIRGRER

0. W 44JRAC-1 |
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109 Arrange the given metals in order of their

decreasing reactivity.
1. Zinc

£ Calcium

3. Copper

4 Potassium

5. Lead :

2 & i gl B TR SRR % ST T
ST 9 § HaRyd BT

1. < ()
2. Hfesrm

3. &

4. dfEH

5. ()

Choose the correct answer from the options
given below:

A R g faemeal & @ FE I BT TG BINAT:
(A) 2,4,1,5,3 B) 4,2.1,5,3
D) 4,2,1,3,5
(E) Question not attempted / AT 97

(10> Which of the following is NOT an OOP

(Object Oriented Programming) principle?
(A) Encapsulation

(B) Inheritance

(C) Data abstraction

(D) Friend class ,

(E) Question not attempted

Pt & ¥ B W aNohd. (e sifdfrs
i) fretr

. (‘A) BRSS!

(B) dMIHA
(C) TSt &1 |
(D) %S T

(B~ ST aid ued

[PT.O.
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111  Match List I with List II:

112 What is the sequence of the followl
List I (Name of List II (Steps memories accordmg to Access speed (froé 11
the process) involved) i‘ast to;;’h";)? ()
CNi : LY
a. Nitrogen ﬁxat:*ibn L. Formatl.onfof > HDD @
£ aanoma rom 3. Cache =
W amino acids 4 Register <
b. Ammonification 1. Conversion of 5 SSD =f
€~«-‘ ammonia into Choose the corregﬂanswer from the optigp,
E nitrites and given below: [~
& ‘then nitrates (A) Register >(C.)ache > RAM > HDD :11
c. Denitriﬁcatiogm III. Conversion of SSD
= free nitrogen of (B) Cache > Rggister > RAM > SSD
4 - HDD .
i -
Ce atmosphere to (C) Register >{Qache > RAM >SSDs
B c?mpounds of HDD et
< nitrogen (D) Cache > R&8ister > RAM > SSD:
d. Nitrification = IV. Conversion of HDD
=7 nitrates to free (E)  Question nt attempted
nitrogen - Prefafem 90 ﬁe‘ﬂ% T & AR (cw ¥
@I%‘m@l@ﬁmwaﬁm - ?%)L;ﬁm: e
@I(mmm)w T 1 (dfe w=) T e
2. w@EHH O
. ST o W 3 Sor o
T a1 frafor 4 & -
ST BT g5 5
[ == WS
ol e § e & e fg g [ ¥ G ST BT TG B,
B\ TR | A) Ta=x># h>@€ré’r>qaqa?u
& -l STgrse & g B) 9> RO > T d> T de
O . Tl o R || v $E> 1w > o0 qu d > qu a4
b b ¥ oRads D) > hrere T > 1@ T8 & > ga & ¢
R T ) el seiy
v LR li[ T 113 Whatis the W1dtlf'6f Rajasthan’ from East t
Choose the correqé{l answer from the options West?
given below: - (A) ‘896 km g (B) 890 km
Y Ry T e @ wE SO @1 9 B (C) 869km . (D) 839km
a-I11, 2-1 eV, d-IL (E)  Question netattempted .
(B) aL b-IIL cqiV, d-1I TR B g ﬁﬁﬂﬁw ¥ -
(C) a-lIL, b-IV, &1, d-II (A) 896Fmlt < (B) 890w
'ﬂ* ey~ 869 el (D) 839 fFh
(D) a-lI, b-1, c-H, d- IV 5__
(E) Question no n\f attempted / SrgaRa T (E) orgafa usw

C.‘
ww 44JRAC1] - | [FT
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3@ B AR 7 B'Q'H"ﬁ T8 o
g (4 (ﬁﬁ \m 117 Which of the following was the largest milk
o A + 3T + AR = §HEIR distribution organisation in India in 20227
®) aife + 91 + AR = STATER (A) Amul - '} (B) Nandini
+ER?T ie‘léﬁ O i
v@/ :; (C) Mother Dairy ™ (D) Kwality
+ 39 + m TGIABI
) - (E) Question not attempted
B f"; 2 frefafaa & &, 2022 g 931 3F
. forereT Hret i | AT ?
_ 15 Whatis BCC in email? \M/ -
(4) Bind Carbon Copy .
> () Bind Content €opy (© wdmh (D) FERE
. (C) Blind Carborg;;o;)y (B) sgarawet
(D) Blind Contenit:Copy
> A,\VN:
E ti b
(E) Question not attempted 118 Conversion of Organig matter to compost with
. S & S (BCC%@T %7 the help of earth-worms is known as -
g
F(A) wEs wEA it (A) Vermi Composting
.
y HEE ET‘?[ | (B) Composting i}
LS I N
B :—Ig (C) Decomposition
LRSS He
i (D) Manuring g\-“j
E) eyt weT (- , <
U 3 (E) Question notattempted
A wf S - ‘ _
- 6 Who developed C ldhguage? . T a’_ﬂ‘#f b ETIAT § WK H ST
A FFEA@IE L
2 ) Tim Berkel M
-8 (B)  Von Neumann D ili%zu (B) BRI
;C) Dennis thchae (C) e (D) @R st
D) -
w g Guido Van Rbssum (E) orgaia wesr <
Question no:: attempted
C sy (language) = ab‘r 'Feyeprer feperT oA 7
(A) fog 119 ﬁﬂﬁﬁﬁﬂm&@ﬂ’awaﬁweﬁqﬁ%?
E}Z) 3t : (A) TR ‘H‘m FW
) - Y ™ . 3R
D) o ek i) © 1 > D)
RS o+ ﬁm , (E) oTaia wes ,‘:
TR ot - =t
o™y )
' 4JRAC g s
. [PT.O.
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120 Transform the given sentence intp negative

[C

122

form choosing the best option from below :
Everyone present there, cheered for her.

(A) There was no one absent to cheer for
her. '

All but none cheered for her there.

There was no one present there who
cheered for her.

DY There was no one present there who did
not cheer for her. '

(E) Question not attempted

(B)
©

ﬁwﬁ%ﬂwmammwwﬁaﬁﬁ?

L g

2. e

. s

4. wm

5.

3 g g Rt § & v awR @ T @i -
4 B) 3,5 .

© 1 D723

(E) \'ﬂaﬁﬁa AL

Given below is an exclamatory sentence.
Change it to assertive form, choosing the best
option.

What a delicious flavour these mangoes
have ! '
-+ These mangoes have a delicious flavour.

——

2. These delicious niangoes have a good
flavour.

Y- The good flavour is of these mangoes only.
4. The mangoes are delicious.

Choose the correct answer from the options
given below :

(A) 1only (B) 3only

\\19/1 and4only (D) 2only

(E) Question not attempted

44JRAC-1]
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123 Identify the statements which are not true for

‘antibiotics’.
1.  Antibiotics are substances whigll kill g,

inhibit the growth of disease Causing
organisms.

2. They are effective in the treatment ¢
both bacterial and viral infections.

3. Erythromycin, penicillin and crocin ar
few examples of antibiotics.

4.  Antibiotics like penicillin blocks th
processes involved in the synthesis o
cell wall in bacteria.

Choose the most appropriate answer from th
options given below:

(A) 3and4only . (B) 2and4only
(©) 2,3and4only (D) 2 and 3 only
(E)  Question not attempted
Preifiiee % & B3 wer ‘shery % frg o
—

I whres 3@ wd ¥ O e an

wferofiferat a5t 7 3 ¥ 1 R Ry
i &)

F ol o st Y ara g g
% STEUR ¥ yur B ¥

3 iR, AR ot B wRes

B Lk uaut]

4. et 3 s 3 whvees, st 4
Hii¥r fftr % Fedwer & weet 5t e |
MR B ¥

T g T formedt & & wod Swgw s A A

it '

(A) FIMAISR4 \BY ¥raw 2 i 4

(€) 3w 2,334 (D) e 2 33
(E) orgafia wed

N PT.C
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i I denﬁfy the correct statements.
4

or
| Ifan article of X 200 is sold at a loss of
or 25%. Its S.P. will be T 250.
1g|
| g HECP= T 56 25 and Gain = 20%, then
s.p.=%67. 50s 3
of
3. IfCPis 96% of the S.P.,, then Proﬁt
re (gain) is 4%. b :J
1oc
he ' 0
o & CP=1507 Gamoe <SP
1 =
hel; Choose the most appt Opriate answer from the
l options given belovﬁzi
| (o) 2and4only g(B) 1 and 4 only
(C) 1,3and?2 onlg;(D) 3, 2 and 4 only
(E) Question not attempted
w -
T BUA B qEAH #ﬁml
I
2 L %200 aﬁqas‘%aﬁ 25% EIT AL AT A
i o e X g;g;éhn
qjl 2. ﬂﬁmw =%6.25 o @ =20% %,
/ A g 7ew = X 67.50 &R
T A o e, P T A 6% B
4% Brm| ﬁ”’:;i
= — — (§8]
ﬁ D
= 100
= 4. ; CER]
kR 100 + @9 % X K
i, “4‘
Pt & & sy ofere e o1 e AT
%2@14,@%@ et 1 9T 4
(4
- ® %aal3aﬁu2";@/&saa,},26ﬂ'f4
1) d
FgaiE wew
)
O ™y
RAC.I ]

g

\so

27

GET IT ON
Google Play

125 Match List I with List II:
List I (Event) List IT (Phenomenon

.. of Light)
a. The reddeningj{qf I. Dispersion of
the sun at sunrige - light
and sunset A0
b. Twinkling of stars I Scattering of light
c. Formation of ¢ III Total Internal
rainbow in the=sKy reflection
d. Mirage formatich IV. Atmospheric
in deserts refraction of light
el 1 % wrer el 1 o1 e HITAC:
T 1 (=) Z’“} A 11 (T qfiere)
a. galew o gy, [ TR gfe@qor
% a9Ig g4 B
C. ST & FHUTH A
%1 frtor
d. Y= A A
1 fomfor ™~ JrgEEAr sTaadE

Choose the corredt-answer from the options
given below: 3

S e T Ryt H4 g8 ST BT 99T BN
(A) a-IL b-1V, i, d-I

(B) a-IL, b-], cIYdL

(®) 2TV, b1, c-%d -1

adL, b-1V, ¢-I, d-II__

(E) Question not attempted / START 99T

126 ‘@& H A HIS i1 §
8 ‘:@3@ T F B @ e

w/ﬁw%m (B) qefeifes Rear
(C) u&ds fpar o (D) o fear
® \‘ﬂﬂﬁﬁﬁuaﬂ‘a‘

r..,‘sd

127 Which of the following is NOT a hardware?
(A) Browser F . (B) . Monitor .
(C) Printer s (D) Scanner
(E) Question nqg gttempted

yﬂﬁﬁ SR ¥ 7
TE - (B) Rt
© B O D) @

(B)  orqefea wow <
=
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128 “‘Palace On Wheels™ a luxury tourist train was
launched on

(A) 26 January 1986
(B) 26 January 1979
(C) 26 January 1982
(D) 26 January 1980
(E) Question not attempted

¥ o e, T Wl Ties 3 FE 6
B A ?

AT 26 T 1986
B) 26 w=ad 1979
(©) 26Tl 1982
(D) 26wl 1980

(E) ogaRa wsd

PN

129 Which of the following is the smallest
fraction?
-
>3 17 18 s

16° 21" 10° 6 5>

ﬁ%a@wﬁamwmmm%?

e

16> 21° 19° 6
5

6

16 -
19

13 17
© 16 21

(E) . Question not attempted / AN 99

A) (B)
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The difference of squares of two consecutivy 34
odd integers is always divisible by:

ammﬁuuﬂ?ﬁa%%mﬁmmg_sn\
& ot Ry g ¥
N By 4

, A 5 _
\9{\&% ©) 3 D) 6
%’;"(E) Question not attempted / AR W

131

Who is called the “Rocket Woman”™ of India?
(A) Kalpana Chawla
(B) Aditi Pant
(C) Ritu Karidhal
(D) Janki Amma
(E) Question not attempted
A ¢ (_@ g HET W ¥ ?
(A) U T
LBy ol e
(€) frg wrlum
(D) <! Sre
(E) orgefE v

13

13

13

133 The common factor of (4341. + 4141) ‘and

(43% +41%%) it be -

Ratio of the number of girls and boys in a
class is 24:16. What is the percentage of girls
in the class?

Ry wa § welpdl ol wEH! @ we ¥ 24:16
1 AT & | e § WSl Y ISR He

130

¥?
(A) 56 (B) 40
&gy 60 (D) 66

(E) Question not attempted / StFRIRA 999

(4341+4141) . (4343+4143)‘3fmé
T g
(A) (43‘“+41‘“)

(B) 84
< 3

@ (43°+41%)

W)uestion not attempted / rgaika W&

ow 44JRAC'1 ] X\ ¢ /.—kgq /ﬁ'é\ o [ PT.0
/@3 Qo {’ \g‘?_‘_ 2\ \ EC. \o r\‘“ xjy
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L// [ r
goes to school from his house at a Speed‘- 138 Match Li b List 11
o Aboi’m/h and comes back from school to his . Distilwntsvt Property)
H sk speed of 12 km/h, What is his Biat 1 (Mefal  Lstl £5000
pouse  spee 47 Non-Metal) i
era i t
it 9.6 kv (B) 11km/h a. Mercury L Ha;:tzfczaaﬁgais g
lo 10.6 km/h (D) 10 km/h B ol
tE) Question not attempted b lodi . r:n::inetal which
5 otk . lodine ; non-
@W N 8"@&' aﬁ b 8 S ® is good conductor of
mm@ﬁ% o 12 .90 /4. & 9 & o electricity
RS E%ﬂ 87 ) ¢. Diamond III. A lustrous non-metal
9.6 e AL i B) 11 %-‘ﬂ-m. . d. Graphite IV. The only metal which
(C) 10.6 ﬁ;.ﬁ./ﬂ- (D) 10 ﬁ;-‘%’./q. iS liqUid at room
13) S we temperature
Which of the following blood group is i I E |
1§ Whic . g bood group A (ryomrg) TR L (R
considered as universal recipient? 2 @ AN B qaih
At & B 1 T SE AU R Y i | omg ® )
A AB+ it
(E) Question not attem ted / arjﬁﬁa LER| | qred ‘
) Q o : c. ¥ Il. T GHHAT UG T
1% Which State Finance Commission is presently d. e V. 3rhell €1y S
working in Rajasthan? A X F B E
(A) Seventh - (B) Fourth Choose the correct answer from the options
(€) Sixth (D) Fifth given below: ‘
(E) Question not attempted | 3 fw U e § ¥ T ITR BT TIA DI
AT o= o el T ﬁj__@ e (A) alIl, b-1V, ¢-L, d-I
wwE? (B) a:IV, b-1IL, ¢-1I, d-I
(A) _=mrat (B) dar (C) a-IV, b-I, c-IIL, d-1I
.Ww (D) et alV.blll ol &I
) srafa wod (E) Question not attempted / SIFART W

13
7 N("’V-a-days, e-book readers are very popular
?sthey are convenient, light and comforta}ble
((X the eyes. Particular ink used for them 15 =~
( C) MICR ink (B) e-ink °
) Magnetic ink (D) QR ink

(E) Quest;
uestion not attempted
mﬁw -

g%ty gEd WS wdifis & yAT
m’mmﬁm e §1 5T
2T Padiy e () v
® Tt .
4 ‘Rﬂﬁm
Cf IR
L‘ FTE wgw
N
| 44JRAC‘].]

139 Which of the following is NOT a declared
UNESCO World Heritage Site?
(A) Amber Fort
(B) Mehrangarh Fort
(C) Keoladeo National Park
(D) Jantar Mantar, Jaipur
(E) Question not attempted
frefflad & | B UNESCO fagg
eifre i o e & 2
(A) SR Ream ‘

B AETTE e
(C) AR T IE
(D) I HER, SragR
(F) orgaita wew

TR e
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140 e 1% wrer el 11 31 Prers g

™1 T 11

a. o+ am ™ 1L e

b. a1 +% NI v @ty
L

0

=

. smnfE v |l

3+3T P
eﬁ+et><lv U] @GRy

ﬁ%&qwﬁmﬁéaﬁwmwaﬁﬁﬂq

(A) &Il bV, o Ld.II
B) a, bl c-Iv,g}m

(C) a-I, b-l, c-néffii-n

mn b-L, c- Wfazm
(E) orafia wew @

-

141 The literacy percéiitage among males in
Rajasthan as per Céﬂus 2011 is

20113&W%&3«R TR & gos ot

W 78.9%
% 79.2%

e uﬁraﬁ%

A) 72.9%

©) 75.7%

" (E) Question not.g%empted / SFafa s
o

142 Complete the sente@ige by choosing the most
appropriate option frgin those given below the
b

he began late.
because

but

sentence.
He finished first
(A) since 4[; (B)
i
\(&)" though W(D)
(E) Questlon not;g,ﬁtempted
{I1
wft

ow 44JRAC-1]
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143 Match List I with List II :

List I List II

a. Browser , [. <button> ‘

b. HTML interactivé II. Store the website
element { on server

Multimedia )

II. Software use to
Access website

V. Combination of
text, video and

d. Web hosting? =
=¥ audio
g 1% ame g n“‘% frerrr R
g1 T I
a. §RE I <S>
b. T@ATAEE. Jl. A I ATERE A
FNAAT AL}  WR B
c. Teel MfsAr

%;In AqEFSE W IET &

forg ST &1 wam
d. ¥ gfeT ﬁv fofea, gea 3T sraw

‘»1;‘?3

A BT GO

Choose the correct answer from the options

g1ven below:

e Rt § e vt B T S

a-III, b-1, 1, c-
a-Iv, bI c-
a-III, b-I, c-I;
a-IV, b-I1, ¢ 3

(B)
©)
(D)

(E) Question noggttempted / Blﬂﬂﬁa I

R

144 Fill in the correct article/ determiner in the

sentences of List 7I&selectlng from List II. _ L
List I o Llst 1I
a. Hariknew = man a
who was kill@@esterda -
b. SriLanka is islan II. the
. My mother teaghes j II. the
1 colleg
uary is <% ﬁrst A
month of the year. o
Choose the corregt answer from the options

given below :
Eg)) alll, b-II, &1 d-1v
a-IV b-IL, ¢ 11, d-1
Uy oL, b1y, , -1
(D) albile IL, c-IV, d-TT
(E)  Question negattempted
¥
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145 ‘STt 9rsT SHar & % fog ue o=

(A) =& (B) gm

© = @7 o

(E) orgafta wes :

146 Which is NOT a hardware device?

(A) Excel (B) Mouse

(C) Monitor (D) CPU

(E) Question not attempted

Frfafaa § 9 &9 @1 sEaw SURTT T ?

uAa/ A (B) wweE
(C) =rRX (D) &@dg
(E) saf@ws
147 4 [ & wrg gt 11 &1 frem s

T 1 : T 11

a. wRsh st o for e
£ | ’

b. i 3 &1 & & T T
2

c. % 3T oK FB AL F3ae T
o

d. s A ¥’ IV, wgw A

A fow o fyeedl ¥ & 92 IR &1 99 HNT

(A) a-L, b-II, c-II, d-IV

(B) a-IIL b-I, c-IV, d-I

(©) a-l, b-II, ¢-IV, d-11I

M

DT a-IL b, oIV, &1L
(E) orgaRd wed

®® 44JRAC-1]
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148 Match List I with List II:

List I (Name of the List IT (Place)
Project)
a. Meja Dam Pariyojana 1. Pratapgarh
b. Som-Kamla-Amba . Sawai '
Pariyojana Madhopur
¢. Moral Dam Pariyojana III. Bhilwara
d. Jhakham Dam IV. Dungarpur
+. ;Pariyojana
T 1% qrer g2y 11 a1 frem i
- gt I (aty af@me & 7m) A 11 (=)
a. HT St R - AT
b. GH-HHAT—37eT I Fag AT
c. WA sie g 1. st
d. smEw sy afEen V. ¥RYT

Choose the correct answer from the options
given below:
e fag T foweat ¥ @ @ ST & 99T B
(A) - a-ll, b-1V, c-I, d-11
(B) a-IV, b-IIL, c-II, d-1
a-III, b-1V, c-I1, d-I
(D) a-ll, b-1, c-II, d-IV
(E) Question not attempted / SFFana 9

149 The vaccines prepared through recombinant
~ DNA Technology are - ;
(A) Second generation vaccing
(B) Fourth generation vaccine
(C) Third generation vaccine
(D) First generation vaccine
(E) Question not attempted
7€ ST 1 gIETS DNA (Srao) s?ra’rﬁra?rm
AT A ¥, T FEACTE?

M%Wﬁm
il QY @ e

(C) E it BT e
(D) v 9 @1 S
(E) orgaie wed

e layer of atmosphere which contains 90%
of Ozone is :
(A) Mesosphere (B) Thermosphere
(C) Troposphere (D) Stratosphere
(E) Question not attempted

90% S, ATgHISH Bl T A Bl ¥y |
(A) wwHsH (B) rEaigEsd
(C) &nwisw HATIHSA
(E) orgafa wew ;
[PT.O.
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